
Voltage, Resistance, Current (notes).notebook

1

August 11, 2014

Sep 4­4:26 PM

Series and Parallel

Aug 11­2:48 PM

Nov 6­1:37 PM

A 12 ohm resistor and a 6 ohm 
resistor are connected in parallel to a 
battery, and the current in the 12 
ohm resistor is found to be 2 A. Find 
the potential difference across the 
battery.

Sep 4­4:20 PM

Nov 7­5:40 PM

A 16 ohm resistor and a 12 ohm resistor 
are connected in series with a battery.  
The potential difference across the 
battery is measured as 14V.  Find the 
potential difference across the 12ohm 
resister.

Sep 4­4:22 PM
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